

Actividad

2

1) Reduce paréntesis. Guíate por el ejemplo:

$$(-8) + (+4) =$$

$-8 + 4$

$$(-3) + (-46) =$$

$$(-15) - (-39) =$$

$$(-81) - (+2) =$$

$$(-11) + (+32) =$$

$$(-18) + (-4) =$$

$$(+15) + (-40) =$$

$$(+7) + (+15) =$$

$$(-5) - (+48) =$$

$$(-8) - (-12) =$$

2) Resuelve reduciendo paréntesis. Guíate por el ejemplo:

$$(-26) + (+30) = \boxed{-26 + 30} = \boxed{4}$$

$$(-22) - (+18) = \boxed{} = \boxed{}$$

$$(-46) - (+14) = \boxed{} = \boxed{}$$

$$(+48) - (-4) = \boxed{} = \boxed{}$$

$$(+26) - (+24) = \boxed{} = \boxed{}$$

$$(-32) - (+37) = \boxed{} = \boxed{}$$

$$(+40) + (-33) = \boxed{} = \boxed{}$$

$$(+18) + (-26) = \boxed{} = \boxed{}$$

$$(-43) + (+2) = \boxed{} = \boxed{}$$